Inter.ordre2:y =f( p1 | p2 in Ci) Inter.ordre2:y =f( p1 | p3 in Ci) Inter.ordre2:y =f( p1 | p4 in Ci)

classes Ci: classes Ci: classes Ci:
[-3.01-25] [-25-2] [-2-15] [0.462.4] [2.4431] [4316.21] [0.20.36] [0.360.52 [ [0.520.68 [
[-15-1 [6.2181] [0.680.84 [
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Inter.ordre 2:y =f( p1 | p5 in Ci) Inter.ordre 2:y =f( p2 | p3 in Ci) Inter.ordre 2:y =f( p2 | p4 in Ci)
classes Ci: classes Ci: classes Ci:
[0.06 2.08 [2.08 4.06 [ [4.06 6.03 [ [0.46 2.4 [24431] [4316.21] [020.36] [0.360.52[ [0.520.68 [
[6.038] [6.2181] [0.680.84 [
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Inter.ordre 2:y =f( p2 | p5 in Ci) Inter.ordre 2:y =f( p3 | p4 in Ci) Inter.ordre 2:y =f( p3 | p5 in Ci)
classes Ci: classes Ci: classes Ci:
[0.06 2.08 [ [2.08 4.06 [ [4.06 6.03 [ [020.36] [0.360.52[ [0.520.68 [ [0.06 2.08 [ [2.08 4.06 [4.06 6.03 [
[6.038] [0.680.84 [ [6.038]
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Inter. ordre 2:y =f( p4 | p5 in Ci)

classes Ci:
[0.062.08 [2.08 4.06 [ [4.06 6.03
[6.038]
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